



District:

**Vendor Ranking** 

Page 1 of 1

E1T75-R0

Contract:

01200416 Letting: April 16, 2020 11:00 AM Call Order: 006

Counties: DIST/ST-WIDE, GLADES, Fed Aid No: N/A

HENDRY **Project(s):** 43274417254 (\*) Contract Time: 365 AVAILABLE DAYS

Contract Desc: Striping

District 1

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MCSHEA CONTRACTING, LLC	Responsive	Winning bid	\$351,115.40	100.00%
2	AKCA, LLC	Responsive	Non-Winning Bid	\$552,504.00	157.36%
3	TRP CONSTRUCTION GROUP, LLC	Responsive	Non-Winning Bid	\$645,929.80	183.97%
4	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$680,158.50	193.71%
5	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$915,665.50	260.79%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Page 1 of 5

### Florida Department of Transportation



#### **Tabulation of Bids**

**Letting:** 01200416 April 16, 2020 **Call Order:** 006 **Contract:** E1T75-R0

District: District 1 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

GLADES, HENDRY

Project(s): 43274417254 (\*)

Contract Descr: Striping

The work under this Contract consists of STRIPING.

Line No / Item ID Alternate	Quantity Units	(1) MCSHEA CO	· ·	(2) AKC	A, LLC	· · ·	NSTRUCTION IP, LLC
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	PAVEMENT ST	RIPING (LARGE	MACHINE) (LM)				
0005 0710 11141  PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, 2-4 DOTTED GUIDELINE/ 6-10 DOTTED EXTENS 6"	2.000 GM ION,	130.16000	260.32	450.00000	900.00	900.00000	1,800.00
0010 0710 11331 PAINTED PAVEMENT MARKINGS, STANDARD,BLACK, SKIP, 6"	40.500 GM	97.62000	3,953.61	300.00000	12,150.00	700.00000	28,350.00
0015 0710 12101  PAINTED PAVEMENT MARKINGS, DURABLE PAINT, WHITE, SOLID, 6' MAINTENANCE USE	123.000 GM	868.37000	106,809.51	1,300.00000	159,900.00	1,100.00000	135,300.00
0020 0710 12201 PAINTED PAVEMENT MARKINGS, DURABLE PAINT, YELLOW, SOLID, WIDE, MAINTENANCE USE	33.000 GM 6"	916.04000	30,229.32	1,400.00000	46,200.00	1,300.00000	42,900.00
0025 0710 12231 PAINTED PAVEMENT MARKINGS, DURABLE, YELLOW, SKIP, 6"	34.000 GM	229.01000	7,786.34	450.00000	15,300.00	700.00000	23,800.00
0030 E710 11121 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"	1,250,820.000 LF	0.07390	92,435.60	0.12000	150,098.40	0.14000	175,114.80





## **Tabulation of Bids**

Page 2 of 5

Lettir	ng: 01200416	April 16, 2020	Cal	II Order: 006		Contract:	E1T75-R0	
	e No / Item ID Alternate n Description	Quantity Units	(1) MCSHEA CONTRACTING, LLC		(2) AKCA, LLC		(3) TRP CONSTRUCTION GROUP, LLC	
	ndicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 PAVEMENT STRIPING (LARGE MACHINE) (LM)								
	E710 11141 ED PAVEMENT MARKINGS, DARD, WHITE, SKIP, 6"	310,500.000 LF	0.07390	22,945.95	0.12000	37,260.00	0.20000	62,100.00
	E710 11221 ED PAVEMENT MARKINGS, DARD, YELLOW, SOLID, 6"	825,220.000 LF	0.07960	65,687.51	0.12000	99,026.40	0.15000	123,783.00
	E710 11241 ED PAVEMENT MARKINGS, DARD, YELLOW, SKIP, 6"	263,910.000 LF	0.07960	21,007.24	0.12000	31,669.20	0.20000	52,782.00
0001 PAVEMENT STRIPING Section Totals: (LARGE MACHINE) (LM)				\$351,115.40		\$552,504.00	I	\$645,929.80
	Contract G	and Totals:		\$351,115.40		\$552,504.00		645,929.80





## **Tabulation of Bids**

Page 3 of 5

Letting:	01200416	April 16, 2020	Cal	II Order: 006		Contract:	E1T75-R0	
Line No		te Quantity Units	(4) ACME BAR	RRICADES LC	(5) ROGAR MAI	OF FLORIDA		
() indicate	es item is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SI	ECTION: 0001	PAVEMENT ST	TRIPING (LARGE I	MACHINE) (LM)				
PAINTED PA	10 11141 AVEMENT MARKINGS , WHITE, 2-4 DOTTED / 6-10 DOTTED EXTEN		500.00000	1,000.00	1,411.00000	2,822.00		
PAINTED PA	10 11331 AVEMENT MARKINGS ,BLACK, SKIP, 6"	40.500 GM	300.00000	12,150.00	1,411.00000	57,145.50		
PAINTED PA	10 12101 AVEMENT MARKINGS PAINT, WHITE, SOLID, NCE USE		1,250.00000	153,750.00	1,111.00000	136,653.00		
PAINTED PA	10 12201 AVEMENT MARKINGS PAINT,YELLOW, SOLID NTENANCE USE	•	1,250.00000	41,250.00	1,111.00000	36,663.00		
PAINTED PA	10 12231 AVEMENT MARKINGS YELLOW, SKIP, 6"	34.000 GM	500.00000	17,000.00	1,361.00000	46,274.00		
PAINTED PA	10 11121 AVEMENT MARKINGS , WHITE, SOLID, 6"	1,250,820.000 5, LF	0.15000	187,623.00	0.24000	300,196.80		
PAINTED PA	10 11141 AVEMENT MARKINGS , WHITE, SKIP, 6"	310,500.000 5, LF	0.25000	77,625.00	0.24000	74,520.00		
PAINTED PA	10 11221 AVEMENT MARKINGS , YELLOW, SOLID, 6"	825,220.000 s, LF	0.15000	123,783.00	0.24000	198,052.80		





## **Tabulation of Bids**

Page 4 of 5

Letting:	01200416	April 16, 2020	Ca	II Order: 006		Contract:	E1T75-R0		
Line No / Item ID Alternate Quantity Item Description Units		(4) ACME BARRICADES LC		(5) ROGAR MANAGEMENT & CONSULTING OF FLORIDA					
	item is bid as Lump Sur		Unit Price	Ext Amount	Unit Price LL	C Ext Amount	Unit Price	Ext Amount	
SE	SECTION: 0001 PAVEMENT STRIPING (LARGE MACHINE) (LM)								
0045 E710	0 11241	263,910.000	0.25000	65,977.50	0.24000	63,338.40			
	VEMENT MARKINGS YELLOW, SKIP, 6"	S, LF							
0001 PAVEMENT STRIPING Section Totals: (LARGE MACHINE) (LM)			1	\$680,158.50		\$915,665.50			
	Contract	Grand Totals:		\$680,158.50		\$915,665.50			
	Contract	Grand Totals:		\$680,158.50		\$915,665.50			



04/16/2020

#### **Tabulation of Bids**

Page 5 of 5

**Letting:** 01200416 April 16, 2020 **Call Order:** 006 **Contract:** E1T75-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.